

Maisonette in Qrendi



Qrendi, South



€638,000

Reference No: 240461048-572

 Total Rooms: 7

 Floor Area (m²) : 140

 Bathrooms: 2

 Bedrooms: 3

Maisonette - For Sale - Qrendi

Qrendi - Maisonette - New to the market in Qrendi, this ready-built 3-bedroom maisonette offers a quiet location opposite an ODZ area. With a spacious kitchen/living/dining area, the property boasts a main bedroom with en suite and walk-in wardrobe, as well as a main bathroom. The 40 sqm back yard is ideal for entertaining. This furnished and freehold property also includes features such as natural gas, PVC piping, and double glazed windows. Additional inventory includes a BBQ. For more information or to arrange a viewing, please contact your preferred agent.

Features

- ✓ Natural Gas
- ✓ Walk in Wardrobe
- ✓ PVC Piping
- ✓ Double Glazed
- ✓ En Suite
- ✓ Water Utility
- ✓ Wi-Fi
- ✓ Back Yard

Rooms

- ✓ Kitchen/Living/Dining : 9 x 5 m (45 m2)
- ✓ Double Bedroom : 3.3 x 2.8 m (9.24 m2)
- ✓ Double Bedroom : 4.1 x 3.6 m (14.76 m2)
- ✓ Double Bedroom : 4.8 x 3.8 m (18.24 m2)
- ✓ Walk In Wardrobe : 1.3 x 2.8 m (3.64 m2)
- ✓ Bathroom : 4.8 x 3.8 m (18.24 m2)
- ✓ Bathroom Ensuite : 1.1 x 3.3 m (3.63 m2)

Gallery









Josianne Camilleri

RE/MAX Professionals - Mosta

M: 79050767

E: jcamilleri@remax.com.mt

T: 27998977

RE/MAX Professionals - Mosta

24, Vjal L-Indipendenza, Mosta, Malta